
SAP ABAP table JSTLAUF {IS-M/SD: Round Sequence}

JSTLAUF

MANDT [CLNT (3)]

BEZIRK [CHAR (10)]

LAUFNUMMER [NUMC (12)]

LAND1 [CHAR (3)]

ADDRSECABBREV [CHAR (4)]

JVTBEZIRK

MANDT [CLNT (3)]

BEZIRK [CHAR (10)]
 JSTLAUF-BEZIRK = JVTBEZIRK-BEZIRK 0..N

1

T000

MANDT [CLNT (3)]
 JSTLAUF-MANDT = T000-MANDT 

0..N

1
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 JSTLAUF-LAND1 = T005-LAND1 

1..N

1

TJS43

LAND1 [CHAR (3)]

ADDRSECABBREV [CHAR (4)]

 JSTLAUF-ADDRSECABBREV = TJS43-ADDRSECABBREV 

0..N

0..N


